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8. Provided that m(x) = -8x =7, n(x) = -\/ 2
(%) 3x“=*1,and p(x)=x> -9, answer each question.

a. Which function has a domain that is NOT all real numbers
What is the restriction on the domain of this function?
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b. Determine (m - p)(x). e : :
- M) - olX (i Determine (m° p)(x).
= (-8x-7€- O-9) = M (X))
- PR Xt el el
= - (x29)~/
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d. Determine (m . p)(—4). e. Determine W (0 3( O)
M(-D= - -7 = 3 /= 25) N= 0320 =~ i
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f£. Which has the larger absolute value, m(-5), or -p(-5)?

m(,é) - -8(_457——7 = p(-57= ot (("’535“ CD

= yp-7 &

= - - f195-9)
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6. a. Create any function equation, r(x), for which r(8) = 12.

will \/c\/g‘)
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e N -XHR0 Do -0 =12  eit..,

b. Create any function equation, w(x), for which w(2) is undefined.
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